Chemistry 3311-100
Organic Chemistry/Dr. Barney Ellison
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1. (10 pts) Consider the following transformation. Show each of the intermediates along
the way. [.l""r = E]
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2. (30 pts) Carry out the following transformation, Use any reagents you like,
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3. {10 pts) What is the product of each reaction? What is mechanism for these reactions?
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4. {10 pts) Carry cut the following transformation. Use any reagents you like,

Qi Chy A
A S e A R
_ N P
3 + L
J, e
CH
(H. > o> Ch I s OH
O _bo czcr = A ET 5
B, = € - . :
30 éu chy l L__M{Jﬂm}ly
5 WL H;,
al CHy A
3 N ” b7
’ l
P’L\_&'L— Qr‘ NES Ry C=Cx o M

- |
5113 ¢ - Z—"" ch EHJ

F -
0 1‘1.,_'5?'



-G - 5/5/97

5. (10 pis) What are the products of these resctionsT Label each steriocenter as (R} or ().
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6. (10 pis) Carry out the following transformation, Use any reagents you like.
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7. (10 pts) When this alkene is hydrogenated, you find two produsts, What are they?
Which iz major & which is minar?
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&, (10 pts) What is the mechanism of this reaction? 'P.a nm{.«.ﬂ -x.Jﬁ 'E.WL' bw, -tﬁ
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5, {10 pts) Carry out the following transformations, Use any reagents you like
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10. (10 pte) What is the machanism of this reaction?
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11. (10 pis) Carry out the following transformations. Use any reagents vou like, What is
the configuration of the starting material, R or 57
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12. {10 pts) There are 4 stenfbisomers of this diol.

Write the 4 isomers, Which are enantiomers? Which are diastericmers?
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13. {30 pts) Carry out the following transformations. Use any reagents you like.
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14. (10 pts) When indene is treated with HC/, why ig only ome chloride formed and not
two?
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1&. (10 pi=) What is the mechanism of this reaction?
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